## Workshop Theme: Patents and Technology Transfer: The Case for Innovative Research in Tertiary Institutions.

## TOPICS AND FACILITATORS

S/N	TOPICS	FACILITATORS	STATUS
1	The imperatives for Patent processes on Result Results.	Prof Ighedosa	
2	Research Considerations on Academic commercialization.	Dr. Godwin Igharo	
3	Intellectual Property and Technology Transfer management on Innovations and Research results.	Professor Anthony Ogbeibu.	
5	Building Entrepreneurship and Innovative ecosystem. The International Perspective.	Ms Danica Ramijak	
	Administration of University's Intellectual Property (IP): The case for Intellectual Property and Technology Transfer Office(IPTTO).	IPTTO Official	
6	University-Industry strategic linkage through Innovative Research.	Professor Earnest Izevbigie	
7	The Legal Perspective on Patent Management Rights.	Dr Flora Onomnerhinor	
8	Formulation and Application of Institutional Intellectual Property Policy (IPP).	Professor C. Osunbor	
9	Technology Transfer: Exploring Technologies/IP Licensing.	Notap Official	
10	The Role of NOTAP in Technology Acquisition and IP Promotions.	Notap Official	25.
11	Intellectual Property Asset Management.	Notap Official	

p			
12	Patent Drafting and Documentation.	Notap Official.	
13	Patent Filing Procedures and Search Techniques.	Notap Official	
14	Stimulating Economic Development through Scientific and Innovative Research.	Prof Earnest Izevbigie	
15	Administration of IP for protection and commercial development.	Prof. Job Odion	
16	Research and Innovation: The case for New Technology.		
17	Scientific Research: The bedrock of Institutional Innovations and Excellence.	Prof. F.Okonofua	
18		Prof. F. Okonofua	
19	Patent Processes on Research Result. (Practical).	Prof. Ighedosa	
20 .	Strengthening Institutional Research and Development (R&D) through IP Portfolios.	NOTAP Official	

## PROPOSED PROGRAMME SCHEDULE

TIME	DAY 1: 25th July 2022	
9: 30 - 10:00am 10:00 - 10:15am 10:15 - 10:30am 10:30 - 10:40am 10:40 - 11:00am 11:10 - 11:30am 11:30 - 12:00 Noon	Registration of Participants Introduction of Committee Members and Facilitators by . Welcome Address by the Vice-Chancellor Goodwill Address by the Director, IPTTO Keynote Address by Director General, NOTAP Workshop Objectives by Group Photograph/Tea Break	,,,,,,
	TOPICS	FACILITATORS
12:00 – 12:30pm 12:30 – 1:00pm	Stimulating Economic Development through Scientific and Innovative Research. Reflections (Questions and Answers)	Prof. Earnest Izevbigie
1:00 - 1:30pm 1:30 - 2:00pm	Scientific Research: The Bedrock of Institutional Innovations and Excellence. Reflections (Questions and Answers)	Prof. F. Okonofua.
2:00 - 2:30pm	Lunch	
2:30 - 3:00pm 3:00 - 3:30pm	The Role of National Office for Technology Acquisition and Promotions (NOTAP) in Technology Acquisition and IP promotions.  Reflections (Questions and Answers)	NOTAP, Abuja
3:30 – 4:00pm	Interactive Session	
	DAY 2: 26th July, 2022.	

9:45 - 10:00am	Review of Day 1 Session	
10:00 – 10:30am 10:30 – 11:00am	Patent Drafting and Documentation. Reflections (Questions and Answers)	NOTAP, Abuja
11:00 - 11:30am	Tea Break	
11:30 – 12:00 Noon 12:00 – 12:30pm	The Imperatives for Patent Processes on Research Results. Reflections (Questions and Answers)	Prof. Ighedosa
12:30 – 1:00pm	Research Considerations on Academic commercialization.	Dr. Godwin Igharo
1:00- 1:30pm	Reflections (Questions and Answers)	
1:30 - 2:00pm	Lunch	
2:00 – 2:30pm 2:30 – 3:00pm	Intellectual Property Asset Management Reflections (Questions and Answers)	NOTAP Official.
3:00 – 3:30pm	Interactions.	
	Desire and the second	EACH ITATORS
TIME	DAY 3: 27 <sup>TH</sup> JULY, 2022	FACILITATORS
9:45 – 10:00am	Review of Day 2 Session	
10:00 - 10:30am 10:30 - 11:00am	Intellectual Property and Technology Transfer Management on Innovations and Research Results. Reflections (Questions and Answers)	Prof. Anthony Ogbeibu
11:00 – 11:30am	Tea – Break	
11:30 – 12:00 Noon 12:00 – 12:30pm	The Legal Perspective on Patent Management Rights. Reflections (Questions and Answers)	Dr. Flora
12:30 – 1:00pm	Formulation and Application of Institutional I.P Policy (IPP).	Prof. C. Osunbor.
1:00-1.30pm	Reflections (Questions and Answers)	
1:30 - 2:00pm	Lunch	
2:00 – 2:30pm	Research and Innovations: The Case for New	
2:00 - 2:30pm 2:30 - 3:00pm	Research and Innovations: The Case for New Technology. Reflections (Questions and Answers)	
	Technology.	
2:30 – 3:00pm	Technology. Reflections (Questions and Answers)	

	DAY 4: 28th July, 2022	
9:45 – 10:00am	Review of Day 3 Session	
10:00 - 10:30am		Prof. F. Okonofua
10:30 - 11:00am	Reflections (Questions and Answers).	
11:00 – 11:30am	Tea – Break	
11:30 – 12:00 noon	University—Industry strategic linkage through innovative research.	Prof Earnest Izevbigie
12:00 - 12:30pm	Reflections (Questions and Answers)	
12:30 – 1:00pm	Strengthening Institutional Research and Development (R&D) through IP Portfolios.	NOTAP Official.
1:00-1:30pm	Reflections (Questions and Answers)	
1:30 - 2:00pm	Lunch	
2:00 – 2:30pm	Research and Innovation: The Case for New Technology.	
2:30 – 3:00pm	Reflections (Questions and Answers)	
3:00 – 3:30pm	Interactions	
	DAY 5: 29th July, 2022	
9:45 – 10:00am	Review of Day 4 Session	
10:00 – 10:30am 10:30 – 11:00am	Patent Filing Procedures and Search Techniques. Reflections (Questions and Answers).	NOTAP Official
11:00 – 11:30am	Tea – Break	
11:30 – 12:00 noon	Administration of University's IP: The Case for Intellectual Property and Technology Transfer Office (IPTTO).	IPTTO Official
12:00 - 12:30pm	Reflections (Questions and Answers)	
12:30 – 1:00pm	Building Entrepreneurship and Innovation ecosystem for sustainable development.	Ms Danica Ramjak
1:00- 1:30pm	Reflections (Questions and Answers)	
1:30 – 2:00pm	Patent Processes on Research Results (Practical Session).	Prof Ighedosa
2:00 – 2:30pm	Technology Transfer: Exploring Technologies and IP	NOTAP Official

2:30 - 3:00pm 3:00 - 3:30pm 3:30 - 4:00pm	Licensing. Reflections (Questions and Answers) Lunch Interactions.	
•		

## **BUDGET FOR 50 PARTICIPANTS**

S/N	ITEMS	DESCRIPTION	QTY/NO.	UNIT COST/RATE <del>N</del>	AMOUNT N
1	HUMAN RESOURCES  a. Facilitators	1).Honorarium for Facilitators (within Benin).	16	16* N50,000= N800,000 1* N70,000=	N800,000 N70,000
		2). Honorarium for facilitator (Irrua).	1	N70,000	
		3). Notap Facilitators. (Flight fares inclusive).	3	3* N400,000 =N1,200,000	N1,200,000
2	MATERIAL RESOURCES a. Banners	6 feet by 4 feet for Ugbowo Campus.	2	5,000	10,000
3	REFERESHMENT a. Breakfast (Snacks)	Meat pie, Sausage roll, chicken, Tea for 5 days	50 (5 days) = 250	1000	250,000
	b. Lunch (Meal)	Buffet for 40 persons	40 (5days) = 200	2500	500,000
4	Bottle water	50cl by 20 pieces	20	1300	26,000
5	Printing of certificate of completion		50	150	7,500

6	Logistics				
	a. Communication	For 2 persons (DCL- N5,000 Communication officer- N3,000)	1	8,000	8,000
	b. Writing of certificates (120)		120	100	12,000
	c. Fueling of vehicles	For 5 persons (Centre Leader- N5,000, DCL- N5,000, Program Manager-N3,000, Asst. Program Manager- N3,000 Communication Officer- N3000)	1	19,000	19,000
		TOTAL			2,902,500